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Spanning tree definition:

Minamum  Spanrings Trees (msr)
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Minimum Spanning Tree definition
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From previous slide spanning trees i.e. T1 and T2
T2 is minimum weighted tree
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Algorithm : Kruskul’s Algorithm for MIST
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~—  Example: For finding MST Using Kruskal’s algorithm
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Example( Continues...)

w1 and w2 are components or partitions
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Another Interpretation of Kruskal’s algorithm

1. Treat n nodes of the graph as n independent trees of the forest
2. Join first the 2 vertices with minimum possible weights.
3. repeat step 2 until no vertices remains for traversal.
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